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Time: 15 min.
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Quiz (3)

| Math 130

ID Number:

__ of the following intervals in i

—
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nequality notation and
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(="-4)




1- Determine which is of the following is polynomial or not polynomial.

(Circle your answer).
a) 43  +Tx-5 \‘_pa!vnum al }:r not pﬂt\rnnmual (1 mark)
b) x+1 polynomial 01; not puhrnumtal ] (1 mark)

2- Perform the following operations
a) ('ix +8x )~ {"’4.1: -‘-‘I) (1 mark)
5 x5x A7~ *-wa‘*’..»; s

5?&5}“'1.’& %

b) (x S)Cx +3) (3 marks)
L eﬁ’} X=-94%_\5
L E 2X *5“‘\ 15{ (1 mark)
3. Factor 25 2"
-5 :‘::tlg)[‘ ...J?"’- 5) (2 marks)
I
v
l:llj-;g.S/ (1 mark)
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1. Dietermine the domain and the nge for each ol the [ollowing
relations. anxd | etermine whether it represents & functyon of Ml
() marks)

— W S A i4.6)) nat Funcfion
Dorein = {29254 s ]
Ya0Qe 2 [ 54 50t 4]

:l : 5

runcC Ccian

Dasva:n l{_ Lsl» .GE
Yange=1"2,57

arks)
s camider the lincar function p(x)e2x+6. (93 -on) W

,  Find the domain and the rnge of g(x).
Domain; {.-—r-.aj {._ e o)

Range: (= 4 o)

b Fnd the slope fnnh-c;nphnf:{u.
Slope = 2

- Find the intercepts of g(x) =2 ‘_["‘_ )
ﬁ-;ntgr’cfpt;ﬂ.li'é:ﬂ ! ‘f‘ 9 ‘f’

y-int Ea 2“-?.;“- —‘!.,1(‘ 0). 5"
L 0 !‘ "LA.. A L s kY3 mark
3. »- Conve a-"' E.”'TJ‘ i n‘.:h“{ . ':i'.. - '-:':frff . : !

-:.Ill- 3
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